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NAME: _______________________________

INSTRUCTIONS

Part 1.
Multiple Choice Questions:  Circle the best answer for each question.

Part 2.
Problems:  Answer questions in space provided.  Show and label all calculations to obtain maximum marks.

Part 3.
Case:  Remember to discuss GAAP for each issue.  Recommendations must be in keeping with GAAP.

Remarking:  Only tests written in ink and returned before leaving the class in which they are returned will be considered for remarking.  Items on which white-out is used will not be remarked.

MARKS:


Part 1.  ________ / 10
Part 2.  Qn. 1. ________ / 10


Part 2.  Qn. 2.  ________ / 20

Part 3. ________ / 10

TOTAL:  ________ / 50
NAME:   __________________________________

STUDENT NUMBER:  _______________________

PART 1.  Choose the best answer for each of the following independent questions.  (10 marks)
1.

The essential characteristic(s) of accounting is (are)



a.
communication of financial information to interested persons.



b.
communication of financial information about economic entities.



c.
identification, measurement, and communication of financial information.



d.
all of the above.



e.
none of the above.
2.

Generally accepted accounting principles

a.
include specific rules, practices and procedures.

b.
include broad principles and conventions of general applications including underlying concepts.

c.
include pronouncements by the Emerging Issues Committee.

d.
all of the above.

e.  none of the above

3.

The exercise of professional judgment involves  which of the following:



a.
the use of knowledge gained through education.



b.
the application of knowledge gained through experience.



c.
the use of ethical decision making.



d.
all of the above.


e.   none of the above.

4.
The quality of information that gives assurance that it is reasonably free of error and bias and is a faithful representation is



a.
relevance.



b.
reliability.



c.
verifiability.



d.
neutrality.



e.
none of the above.

5.
One of the elements of financial statements is net income.  Net income is equal to

a.
revenues minus expenses plus gains minus losses.

b.
revenues minus expenses plus gains minus losses plus investments by owners minus distributions to owners.

c.
revenues minus expenses plus gains minus losses plus investments by owners minus distributions to owners plus assets minus liabilities.

d.
any of the above will determine net income.

e.
none of the above.

6.

Preparation of consolidated financial statements when a parent-subsidiary relationship exists is an example of the



a.
economic entity assumption.



b.
relevance characteristic.



c.
comparability characteristic.



d.
neutrality characteristic.



e.
none of the above.

7.

Which of the following, in the most precise sense, means the process of exchanging noncash resources and rights into cash or claims to cash?



a.
Recognition



b.
Measurement



c.
Realization



d.
Allocation



e.
None of the above

8.

Which of the following statements about materiality is not correct?

a.
An item must make a difference or it need not be disclosed.

b.
Materiality is a matter of relative size or importance.

c.
An item is material if its inclusion or omission would influence or change the judgement of a reasonable person.

d.
All of the above.

e.
None of the above.

9.

Which of the following criteria must be met before an event or item should be recorded for accounting purposes?



a.
The event or item can be measured objectively in financial terms.



b.
The event or item is relevant and reliable.



c.
The event or item is an element.



d.
All of these must be met.



e.
None of the above.

10.

Which of the following is not an internal event?



a.
Amortization



b.
Using raw materials in the production process



c.
Dividend declaration and subsequent payment



d.
All of the above.



e.
None of the above.

PART 2.
Problems  (20 Marks)
Problem 1.  (20 marks)

Presented below is information which relates to Howe Company for 2002.


Collections of credit sales
$1,100,000


Retained earnings, January 1, 2002
800,000


Sales
1,900,000


Selling and administrative expenses
290,000


Fire loss
450,000


Cash dividends declared on common stock
34,000


Cost of goods sold
1,100,000


Loss due to calculation error on depreciation expense in 2000     
 460,000


Other revenues
180,000


Other expenses
120,000


Loss from early payment of debt
340,000


Gain on sale of building
220,000


Proceeds from sale of Howe common stock
60,000

Additional information:

1.
Early in 2002, Howe changed amortization methods for its plant assets from the double-declining balance to the straight-line method.  The affected assets were purchased at the beginning of 2000 for $200,000, had no residual value, and had useful lives of 10 years.  Amortization expense of $20,000 is included in the "Selling and Administrative Expenses" of $290,000 above.

2.
Included in Selling and Administrative Expenses is Bad Debts Expense of $19,000.  Howe bases its bad debts expense upon a percentage of sales.  In 2000 and 2001, the percentage was .5 percent. In 2002, the percentage was changed to 1 percent.

Instructions

A.
Prepare in good form a multiple-step statement of income for 2002. Assume a 30 percent tax rate.
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Howe Company

INCOME STATEMENT

For the Year Ended 2002

Sales


$1,900,000

Cost of goods sold

  1,100,000
Gross profit

800,000

Selling and administrative expenses

     290,000
Operating income

510,000

Other revenues and gains:


Other revenues

 180,000


Gain on sale of building

 220,000






910,000

Other expenses


Other expenses
  $120,000


Early payment of debt
    340,000
460,000


Income from operations

450,000

Income tax

     135,000
Income before extraordinary item

315,000

Extraordinary loss (net of taxes of $135,000)

315,000


Net income

$         -0-    
B.
Prepare any journal entries required to record the change in policy, change in estimate, and error correction.

Change in Policy

Accumulated depreciation

  32,000

Income tax payable


         9,600


Retained earnings


       22,400

Change in Estimate

No entry required – prospective treatment

Error Correction

Retained earnings


322,000

Income tax payable


138,000


Accumulated depreciation

    322,000

PART 2.  Question 2.  (10 marks)
Both Newman Industries, Limited and Chancellor Industries, Inc. have applied to your bank for a $400,000 loan.  The loan, plus interest, is to be repaid in one year.  The financial statements for each company follow.

	Newman enterprises, limited
Balance Sheet

at January 31, 2002
	

	ASSETS
	

	Current Assets
	

	Cash
	$      75,000

	Accounts Receivable (net)
	130,000

	Inventories (LCM)
	425,000

	Total Current Assets
	630,000

	Capital Assets
	570,000

	TOTAL ASSETS
	$ 1,200,000

	EQUITIES
	

	Current Liabilities
	

	Accounts Payable
	$    300,000

	Long-term Loan
	400,000

	Total Liabilities
	700,000

	Capital Stock
	400,000

	Retained Earnings
	100,000

	Total Shareholders’ Equity
	500,000

	TOTAL EQUITIES
	$ 1,200,000

	NEWMAN ENTERPRISES, LIMITED
INCOME STATEMENT

FOR THE YEAR ENDED JAN. 31, 2002
	

	Sales
	$ 1,280,000

	Cost of Goods Sold
	960,000

	Gross Profit
	320,000

	Selling Expense
	115,000

	Administrative Expense
	96,000

	Interest Expenses
	24,000

	Total Expenses
	235,000

	Net Income
	$      85,000


	Chancellor industries, inc.
BALANCE SHEET

AS AT DECEMBER 31, 2001
	

	ASSETS
	

	Current Assets
	

	Cash
	$    325,000

	Accounts Receivable (net)
	160,000

	Inventories (LCM)
	215,000

	Total Current Assets
	700,000

	Capital Assets
	760,000

	TOTAL ASSETS
	$ 1,460,000

	EQUITIES
	

	Current Liabilities
	

	Accounts Payable
	$    350,000

	Long-term Loan
	500,000

	Total Liabilities
	850,000

	Capital Stock
	450,000

	Retained Earnings
	110,000

	Total Shareholders’ Equity
	610,000

	TOTAL EQUITIES
	$ 1,460,000

	CHANCELLOR INDUSTRIES, INC.

INCOME STATEMENT

FOR THE YEAR ENDED DEC. 31, 2001
	

	Sales
	$    900,000

	Cost of Goods Sold
	600,000

	Gross Profit
	300,000

	Selling Expense
	95,000

	Administrative Expense
	95,000

	Interest Expenses
	28,500

	Total Expenses
	218,000

	Net Income
	$      81,500



Required:  Assume that you can make only one loan.  Which company would you select?

Solution

	ratio
	Newman ENTERPRISES, LIMITED
	Chancellor Industries, INC.

	Current ratio
	2.08:1
	2:00:1

	Quick ratio
	0.68:1
	1.24:1

	Debt ratio
	0.583
	0.582

	Accounts receivable turnover
	10.7 times
	5.63 times

	Days to collect receivables
	34 days
	65 days

	Inventory turnover
	2.26 times
	2.8 times

	Days to sell inventory
	162 days
	131 days

	Operating cycle
	196 days
	196 days

	Gross profit rate
	0.25
	0.33

	Net income rate
	0.066
	0.091



You would choose Chancellor because of its overall better liquidity ratios.  Both companies’ current ratios are strong, but Newman’s quick ratio is lower than you would like to see.  However, you would be concerned about the quality of Chancellor’s receivables.  It takes them over two months to collect accounts.  You would probably ask them for an aging of receivables and an explanation about the receivables and the turnover rates.  Also, it takes them over four months to sell inventory.  Newman’s collections are good, but their inventory turnover is slow.  It takes them over five months to sell inventory. These ratios may be normal for their industry, however, they are a concern to the banker.  Chancellor’s profit ratios are better than Newman’s.  If you do not get satisfactory answers about the turnover rates, you may decide to save the loan for another company.

PART 3.  Case  (10 marks)
The weather was beautiful so you and a friend decided to meet at a local sidewalk café for dinner.  You arrived a little early, and while you were waiting, you overheard the following conversation.
Gent:
“The auditors are coming a week from Monday and we haven’t determined how we are going to improve our income for the year.”
Lady:
“You’re right.  We have to get going on this.  There are lots of things we can look into, but the trick is to find the things that will have an impact on income and still be reasonable to the auditors.

“Just so you know, I have put some thought into this over the past week or so and I do have a few ideas.  For example, we have to look at our repair and maintenance account to see if we can capitalize any items we initially recorded as expense.  I understand that Allan over at Adders ‘N Keyes capitalized the new transmission they put in their truck this year.”
Gent:
“We had to put new refrigeration unit in our cold storage truck this year.  Had we not done this, we couldn’t have used it to transport frozen foods to our customers.”

Lady:

“Anything else you can think of?”

Gent:

“No, but we can go through the ledger account on Monday morning.



“What other things do you have in mind?”

Lady:
“Do you know when the court case is scheduled – you know, for the claim we have against Newman Fine Foods for the tainted product they shipped us during the winter?  We should reduce our loss for the 4th quarter by the amount claimed.  I think our lawyers will agree that we have a good chance of winning this case.  It is pretty clear cut.”
Gent:
“That would make a huge difference to our profit for the year.  This may not be as difficult as I had imagined.  We’ll roll our sleeves up on Monday.  We still have a week before the audit begins.”

Much to your surprise, a week Monday when you arrived at the new client’s office to discuss the year-end audit, you were greeted by Gent and Lady.

Required:
Analyze the case.  Remember to discuss GAAP concerning each issue.  Your recommendation must be in accordance with GAAP, and in line with your financial reporting objective.

OVERVIEW:
Company:  
Probably public since they are concerned about their earnings figure.

Being audited

Has something to do with frozen foods (fine foods)

Currently suing one supplier for tainted foods

Industry:  
May mention that there is risk (food is ingested)

Users:  
Management (A)

Bankers (C)

Shareholders (C)

CCRA (C/A)

Other reasonable

Role:  
Auditor (C)

Constraints:  
GAAP (being audited, or may be public)

Issues:

1.
Capitalize vs. Expense – new refrigeration for cold storage truck. 

Options:  
Debit truck account

· Debit accumulated depreciation

· Debit expense

GAAP  
· If the item is an addition, debit the asset account.
· If the item is a betterment or improvement, debit the asset account, or the contra-asset account.  

· If the item is not an addition, betterment, or improvement, it is an expense – either regular maintenance, or a repair.  In this case, you would debit the repair and maintenance account.

Recommendation:  It is easy to recognize this as a betterment.  A refrigeration truck could not be used if the refrigeration unit is not working properly.

Debit either the asset account, or the accumulated depreciation account.  Remove the item from expense.  This is neither aggressive nor conservative.  It is simply correct.  
2.
Contingent gain  

Options:  
· Disclose in notes

· Don’t disclose in notes

GAAP  
· Contingent gain – if it is likely to occur, you may disclose information in the notes to the financial statements

· If the outcome is unknown, or unlikely, you can not disclose a contingent gain in the notes

· Never accrue for a contingent gain

Recommendation:  If, after consultation with the company’s lawyers, it is determined that the outcome will likely be in favour of your client, disclose in the notes.  If the lawyer does not have confidence that the company will win this case, do not disclose.  In neither case would the item be accrued in the financial statements.  
PAGE  
11

_1115211723.bin

